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HISTORY (zfaem™)

Instructions : The answer of Question No. I is compulsory having 2 marks for each objective

question. The candidate is required to answer two long type questions out of four
questions. Each carries 40 marks.
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L. Objective Questions (TETS W) (2x10=20)

1. The Harappan site most noticeably known for its dockyard is
(A) Mohenjo-daro (B) Ropar

(C) Rakhigarhi (D) Lothal

BeWTE wd, et @rftmd @t = a1 e g, 9% §

(A) WGt B) AT
(C) T . (D) ®gd
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2. Found in large numbers, (he coins, mostly

made of silver and ascribed to the Mauryan times
are Known as

(A)  Karshapana (B)  Dinara
(@) Danu (D)  Nishka
FTR T W R Rk, W SR A & =9 3R Wfenreliar A, I7¢ foe T A S
STaT @7
(A)  HTeioy ®) @R
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3. Queen Didda, the regent and ruler in the 10th century CE, was associated with which part
of India?
(A) Odisha ®)  Bihar
(©)  Kashmi (D) Rajasthan

Tt R, S 104 wraTed § U RO S wEE IR W W, IR FAT ARG F

forg W @ ©2

(A) afeam ®) TEr

(C) HFER ) TERIH

4 Who among the following sultans in the Delhi Sultanate renamed Devagiri as Daulatabad?
4. g

(A) Alauddin Khalji B) B'a]ban 1

(C) Muhammad-bin-Tughlaq (D) Firuz Shah Tughlaq

ﬁ@%m%ﬁmﬁ%agﬁﬁﬁ%mﬁéaﬁr&mwwwmﬁm?
A) g faestt (B) e
(C) HerTg- o~ D) TR ae irersh

following travellers, identify the one who did not visit the Vijayanagara Kingdom?

5. F the . .
(1;())m Abdul Razzaq (B) Nicolo Conti
(C) Nuniz (D) Al-birum |
ﬁwﬁ%ﬁmﬁﬁﬁﬁmﬁﬁmﬂwmwﬁﬁmm?
(A) g TR ®) frerer wifd
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6. The Permanent Settlemeny of the land ra ‘ o
in ¢ land revenueg of Bengal under the colonial rule was made
(A) 1757
(C) 1764 B) 1793 (“
aﬁ_qﬁ_a_r (D) 1800
A ATHAHTT | 5 - .
(A 1757 AT - e et form ad o mn oo
B) 1793
© e (D) 1800

7. Which incident triggered Mahatma Gandhj to wi
(A) Jallianwala Bagh Firing

(C)  Chauri Chaura incident

thdraw the Non-Cooperation Movement?
(B)  Death of Lokmanya Tilak

8.  Intervention of the Indian army leading to the breaking away of East Pakistan and emergence

of Bangladesh as a new Nation-State happened in the year
(A) 1947 B) 1965
(C) 1999 O) 1971

Wﬂﬁm%%ﬁm%aﬁwﬁmwﬁaﬁawmﬂﬁaﬁwqmm
TE & T H T R 9l gan?

(A) 1947 B) 1965

©) 1999 D) 1971

9. ‘Disum’ in Birsa Movement meant

(A) Munda land (B) Landlords and Moneylenders
(C) Europeans (D) name of a tribe
foran srigrem & foyw = sftma fFaw a2
(A) Her-9f B) HIGR 3R HgHR
(C) T & (D) T ST 1 A
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10.  Sido and Kanhy Were associated with which tribal revolt? Py

(A)  The Kols (B)  The Santhals
(C)  The Bhils (D) The Gadkaris
R ok ) frg ST fagie A R A7

(A) == (B) T

(C) i D) e

Il Long Type Questions (S Sl ww) (40x2=3y

1. Give an account of the rise of Magadha as the most formidable ‘Mahajanapada’
sixth century BCE,

@ﬁsmﬁéo%%m-wmawwﬁﬂﬁm?ﬁ HESIE & TR W I57 F FRoy
T ST W

around the

2.  Discuss the main features of Indo-Islamic architecture, as it developed in Indian history.

Wsﬁmﬁ%ﬁagé@—mﬁmaﬁﬁﬁwﬁaﬁﬁﬁ

3. Discuss the ways and means by which Mahatma Gandhi could transform the struggle for
Indian independence into a mass movement.

Wﬁ%ﬁmmmwaﬁﬁaﬁtmmﬁﬁwﬁ,ﬁ@aﬁﬁﬁmﬁu
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4 Assess the agrarian and political content of the Munda rebellion, led by Birsa Munda.

o 3 : <t 3ot SR FN-wedt fvr-aeg 6w
TW%Wﬁ@W y1erd) etz uiy
I

C)] »
\-\03«‘@6 0‘3@3\\«
- 'n\;&;;ﬁ Pl

] kmw/\a“ \

< P Contd.
CCSME17 (11)/15 - °

C} Scanned with OKEN Scanner



facar :

T .

AR

GEOGRAPHY (g

mstructions : The answer of Question No.
question. The candid;

I.  Objective Questions (T WE)

1.  Benioff zone is related to

(A) divergent movement

Lis compulsory havin
e S requireq o
questions. Each carrieg 40 marks,
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£ 2 marks for each objective
answer two long type questions out of four

(2x10=20)

B)  convergent movement
(C) conservative movement D) None of these
FAE & ey R
(A) TR T G ®) s T
(C) Xt oo D) T | = 7
2. Which is the Metamorphic rock among the following?
(A) Granite (B)  Quartzite
(C) Granodiorite (D) Rhyolite
frff 3 & B wRE T 27
(&) e ®) iz
C) ISERTEE (D) e
3. How many main industrial regions are there in India?
(A) Five ®B) Six
(C) Seven (D) Eight
W # Ty stenfie wew €7
A) U= ®) @
(€ W (D) 3o
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4. Which Census year is known as ‘Big Divide’ or ‘Demographic Divide’ in India?
(A) 1911 B) 1921
(C) 1931 (D) 1941
SIT-TT ST 9, WRA 3 Ted R @1 Wik R % A QS S
27
(A) 1911 .(B) 1921
(C) 1931 D) 1941
5. Which s the highest petroleum producing region in India?
(A) Western coastal off-shore arca (B) Gujarat coastal area
(C) Brahmaputra valley area (D) Eastern coastal area
AR # Falfis Yeifcam Iaes & Sia-a1 27
A) ufysd sqadia &= B) TN e &=
Q) R w8 D) T qEE &
6.  Which is the largest means of irrigation in India?
(A) Wells and tubewells (B) Canals
(C) Tanks (D) Others
IRa # = &1 w=@ =91 9| @@ 22
(&) FU T T . (B) T
(C) dqr= O) I 9
7.  Inroad network, India’s position in the world is
(A) first (B) fourth
(C) second (D) third
e Ylikaed o= ¥, fava § 9Ra &1 @ §
(A) wgH ®) =qd
© fel D) T
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8. How many Export Processing Zones (EPZs) are there in India? -
(A)  Five B S
Six
C W .,
(C)  Seven D) Figh
i

(C) 9H1a (D) 315 WI.’Jumwgg Noy
. 3
9.  After bifurcation of Bihar, which two tribes were merged l]’ﬂ\ﬁ\’\'\
N oo g iyl //////m[/w[m .
ond and Baiga (B) Binjhia and Bathudi //l/jjj/jﬂu// m @
(C) Sabar and Hill Kharia (D) Malpahariya and Sabar '
foer fawem & ame, wrgve # e @ sAota =t # foem = fan e
(A) e 3R MW ®) faffmn sk g
(©) =R 3R fea afe . (D) W verfedn R R
10. Which river in Jharkhand belongs to northern drainage system?
(A) Kanhar (B) Brahmani
(C) Sakr (D) Gumani
aREve F FA-E T IR FArE o H R
L (A) TR ®) el
(C) @RI ©) A

II. Long Type Questions (3t ITA A9A) (40x2=80)

What do you mean by transform fault and spreading axis? How are these associated to sea

1.
floor spreading and paleomagnetism? Explain.
A ST o TR e | 1Y T FHAA € 7 T Hel T WG TA TR IR WE=&E
q HH B =T Hivg
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2. Explain the thermal, dynamic and jetstream concepts of the origin of monsoon in India in brief.
WA wrEE R Il i ardia, TR ok e yare dees @ i frao e
Hrfw)
3. Explain the problems of land utilization in India. )

WRA # W ITAfian i wwensit i een i)

4.  Explain the population growth in Jharkhand. What is the situation of decadal growth of Tribal

population in Jharkhand.
AREvE | SaeE gig i amern S ST St e dfg < Rafa =
87
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